Proceedings of the Mission Director, MEPMA, Telangana, Hyderabad

Present: Dr. N.Satyanarayana, IAS Mission Director, MEPMA

<u>Procs.No. 195846/MEPMA-SUSV/ACS/1/2020</u>

Sub:-

MEPMA – DAY-NULM – Support to Urban Street Vendors – PM Street Vendor's AtmaNirbhar Nidhi, a Special Micro Credit Facility Scheme to Street Vendors – Completion of all Sanctions, Disbursement of loans, Digital on-boarding of Street Vendors and Training as waiver of stamp duty on loans accorded by Govt is ending by Oct 31st October, 2020 and increased sales inview of Dasara festival – Organizing Camps - Release of Funds – Orders issued - Regarding.

Dated: 15/10/2020

Ref:-

- 1. D.No. K-12017(33)/2/2020UPA-II(9088879), Dt: 08.10.2020 of the Secretary MoHUA, GoI.
- 1.1. G.O.Ms.No. 92, Rev (Registration) Dept, Telangana, Dt.07.08.2020 waiving Stamp Duty on Loans to Street Vendors.
- 2. Instruction of the Joint Secretary, MoHUA, GoI, during the VC held on 12.10.2020 with the Controllers of various Banks in Telangana.
- 3. Guide lines of PMSVANidhi.
- 4. Note Orders of Mission Director, MEPMA Dt: 15.10.2020
- 5. Instructions of Honble Minister of MA&UD on development of Street Vendors as part of Pattana Pragathi Programme launched on 24th Feb, 2020.

ORDER:

Through the references cited, it is informed that digital on boarding of Street Vendors is an integral and important part for facilitating and promoting them to undertake credit as well as debit transactions on digital platform with ease. Further, informed that during the webinar held on 11.09.2020 jointly by Joint Secretary, DFS and Joint Secretary MoHUA with the banks and SIDBI, the banks have agreed for handholding and training of Street Vendors in undertaking digital transactions and also promoting debit transactions through payment Apps/BHIM UPI App. All the Banks were also informed of the following activities to be undertaken within one week of the disbursement of the loan:

- i. To generate a UPI ID for the beneficiary at the time of disbursement of Loan.
- ii. Arrange for issue of a Durable QR Code containing the UPI ID.
- iii. To issue RuPay debit card.
- iv. Train Street Vendors (SVs) on the use of QR code and their payment App /BHIM UPI

- App for conducting digital transactions at the place of their business, by utilizing the services of Banking Business correspondents/ hired field Functionaries.
- v. Make SVs under take the 'penny drop' transactions for both the process credit & debit, to create evidence for handholding.
- 2. Further, as waiver of Stamp Duty on Loans to Street Vendors accorded by Telangana Govt is going to be closed by October 31st and inview of Dasara Festival, it is decided to organize Camps for sanctioning of all loans of street vendors, disbursement, onboarding and conducting training to SVs for digital transactions. Further during the meeting some of the major banks like SBI, UBI have informed that they have a provision to generate the UPI IDs and issue QR codes to Street Vendors in their banks. The remaining banks like APGVB, TGB, DCCB etc., have requested MEPMA for providing support for generation of UPI IDs.
- 5. Further, as per the willingness of Bankers, utilise stamp duty accorded by the Govt, camps on following dates required be organized twice in a week in all ULBs on the following dates for completing all Sanctions, Disbursement of loans to Street Vendors, Issue of UPI IDs and QR Codes and training on Digital Transactions to Street Vendors.

Sl.No	Date
01.	16.10.2020
02.	22.10.2020
03.	23.10.2020
04.	29.10.2020
05.	31.10.2020

6. An amount of Rs. 6,000/- (Rupees Six Thousand Only) is hereby sanctioned for conducting each camp in each ULB towards Logistic Arrangements (Chairs, Tables, Audio Video System, Banners, Tent (if required), etc), Drinking water, Tea and Snacks to Bankers, Payment aggregators, Trainers, other officials, Hand Sanitizers, Stationary items etc.. Any additional amount is necessitated, the same may be met from General Funds/Pattana Pragathi grants (state matching share).

The District & ULB wise sanction for organizing Camps is as follows:

S. No	Name of the District	Name of the ULB	No. of Camps	Amount per Camp	Total Amount Sanctioned
----------	----------------------	-----------------	-----------------	--------------------	----------------------------

1	2	3	4	5	6
1	Adilabad	Adilabad	5	6000	30000.00
	Adilabad Total		5	6000	30000.00
2	Bhadradri Kothagudem	Kothagudem	5	6000	30000.00
3	Bhadradri Kothagudem	Manuguru	5	6000	30000.00
4	Bhadradri Kothagudem	Palvancha	5	6000	30000.00
5	Bhadradri Kothagudem	Yellandu	5	6000	30000.00
	Bhadradri Kothagudem Total		20	24000	120000.00
6	Jagtial	Dharmapuri	5	6000	30000.00
7	Jagtial	Raikal	5	6000	30000.00
8	Jagtial	Jagityal	5	6000	30000.00
9	Jagtial	Koratla	5	6000	30000.00
10	Jagtial	Metpally	5	6000	30000.00
	Jagtial Total		25	30000	150000.00
11	Jangaon	Jangaon	5	6000	30000.00
	Jangaon Total		5	6000	30000.00
12	Jayashanker Bhupalpally	Bhupalapally	5	6000	30000.00
	Jayashanker Bhupalpally Total		5	6000	30000.00
13	Jogulamba Gadwal	Alampur	5	6000	30000.00
14	Jogulamba Gadwal	Gadwal	5	6000	30000.00
15	Jogulamba Gadwal	Waddepalli	5	6000	30000.00
16	Jogulamba Gadwal	Ieja	5	6000	30000.00

	Jogulamba Gadwal Total		20	24000	120000.00
17	Kamareddy	Kamareddy	5	6000	30000.00
18	Kamareddy	Bhanswada	5	6000	30000.00
19	Kamareddy	Yellareddy	5	6000	30000.00
	Kamareddy Total		15	18000	90000.00
20	Karimnagar	Karimnagar	5	6000	30000.00
21	Karimnagar	Choppadandi	5	6000	30000.00
22	Karimnagar	Kothapalli	5	6000	30000.00
23	Karimnagar	Jammikunta	5	6000	30000.00
24	Karimnagar	Huzurabad	5	6000	30000.00
	Karimnagar Total		25	30000	150000.00
25	Khammam	Khammam	5	6000	30000.00
26	Khammam	Wyra	5	6000	30000.00
27	Khammam	Sattupally	5	6000	30000.00
28	Khammam	Madhira	5	6000	30000.00
	Khammam Total		20	24000	120000.00
29	Komarambheem Asifabad	Kaghaznagar	5	6000	30000.00
	Komarambheem Asifabad Total		5	6000	30000.00
30	Mahabubabad	Thorrur	5	6000	30000.00
31	Mahabubabad	Maripeda	5	6000	30000.00
32	Mahabubabad	Dornakal	5	6000	30000.00
33	Mahabubabad	Mahabubabad	5	6000	30000.00
	Mahabubabad Total		20	24000	120000.00

34	Mahabubnagar	Mahbubnagar	5	6000	30000.00
	rranavaonagai	avianouonugui	J	0000	30000.00
35	Mahabubnagar	Bhootpur	5	6000	30000.00
36	Mahabubnagar	Badepally	5	6000	30000.00
	Mahabubnagar Total		15	18000	90000.00
37	Mancherial	Chennur	5	6000	30000.00
38	Mancherial	Luxettipet	5	6000	30000.00
39	Mancherial	Kyathanpally	5	6000	30000.00
40	Mancherial	Naspur	5	6000	30000.00
41	Mancherial	Mancherial	5	6000	30000.00
42	Mancherial	Mandamarri	5	6000	30000.00
43	Mancherial	Bellampally	5	6000	30000.00
	Mancherial Total		35	42000	210000.00
44	Medak	Narsapur	5	6000	30000.00
45	Medak	Ramayampet	5	6000	30000.00
46	Medak	Medak	5	6000	30000.00
47	Medak	Toopran	5	6000	30000.00
	Medak Total		20	24000	120000.00
48	Medchal Malkajgiri	Peerzadiguda	5	6000	30000.00
49	Medchal Malkajgiri	Boduppal	5	6000	30000.00
50	Medchal Malkajgiri	Dammaiguda	5	6000	30000.00
51	Medchal Malkajgiri	Ghatkesar	5	6000	30000.00
52	Medchal Malkajgiri	Jawahar Nagar	5	6000	30000.00
53	Medchal Malkajgiri	Nagaram	5	6000	30000.00

54	Medchal Malkajgiri	Nizampet	5	6000	30000.00
55	Medchal Malkajgiri	Dundigal	5	6000	30000.00
56	Medchal Malkajgiri	Gundla Pochampally	5	6000	30000.00
57	Medchal Malkajgiri	Pocharam	5	6000	30000.00
58	Medchal Malkajgiri	Kompally	5	6000	30000.00
59	Medchal Malkajgiri	Medchal	5	6000	30000.00
60	Medchal Malkajgiri	Thumkunta	5	6000	30000.00
61	Medchal Malkajgiri	Secbad Cant. Board	5	6000	30000.00
	Medchal Malkajgiri Total		70	84000	420000.00
62	Nagarkurnool	Kollapur	5	6000	30000.00
63	Nagarkurnool	Nagarkurnool	5	6000	30000.00
64	Nagarkurnool	Kalwakurthy	5	6000	30000.00
65	Nagarkurnool	Atchampet	5	6000	30000.00
	Nagarkurnool Total		20	24000	120000.00
66	Nalgonda	Haliya	5	6000	30000.00
67	Nalgonda	Chityal	5	6000	30000.00
68	Nalgonda	Nandikonda	5	6000	30000.00
69	Nalgonda	Chandur	5	6000	30000.00
70	Nalgonda	Miryalguda	5	6000	30000.00
71	Nalgonda	Devarakonda	5	6000	30000.00
72	Nalgonda	Nalgonda	5	6000	30000.00
	Nalgonda Total		35	42000	210000.00
73	Narayanpet	Maktal	5	6000	30000.00

	1		1	
Narayanpet	Kosgi	5	6000	30000.00
Narayanpet	Narayanapet	5	6000	30000.00
Narayanpet Total		15	18000	90000.00
Nirmal	Khanapur	5	6000	30000.00
Nirmal	Bhainsa	5	6000	30000.00
Nirmal	Nirmal	5	6000	30000.00
Nirmal Total		15	18000	90000.00
Nizamabad	Nizamabad	5	6000	30000.00
Nizamabad	Bheemgal	5	6000	30000.00
Nizamabad	Armoor	5	6000	30000.00
Nizamabad	Bodhan	5	6000	30000.00
Nizamabad Total		20	24000	120000.00
Peddapalli	Ramagundam	5	6000	30000.00
Peddapalli	Peddapalli	5	6000	30000.00
Peddapalli	Manthani	5	6000	30000.00
Peddapalli	Sulthanabad	5	6000	30000.00
Peddapalli Total		20	24000	120000.00
Rajanna Sircilla	Sircilla	5	6000	30000.00
Rajanna Sircilla	Vemulavada	5	6000	30000.00
Rajanna Sircilla Total		10	12000	60000.00
Rangareddy	Bhadangpet	5	6000	30000.00
Rangareddy	Bandlaguda Jagir	5	6000	30000.00
Rangareddy	Amangal	5	6000	30000.00
	Narayanpet Total Nirmal Nirmal Nirmal Nirmal Total Nizamabad Nizamabad Nizamabad Nizamabad Nizamabad Peddapalli Peddapalli Peddapalli Peddapalli Rajanna Sircilla Rajanna Sircilla Total Rangareddy Rangareddy Rangareddy	Narayanpet Narayanapet Narayanpet Total Nirmal Khanapur Nirmal Bhainsa Nirmal Nirmal Nirmal Nirmal Nizamabad Nizamabad Nizamabad Bheemgal Nizamabad Armoor Nizamabad Bodhan Nizamabad Bodhan Peddapalli Ramagundam Peddapalli Peddapalli Peddapalli Sulthanabad Peddapalli Sulthanabad Rajanna Sircilla Rajanna Sircilla Rangareddy Bhadanapet Rangareddy Bandlaguda Jagir	Narayanpet Narayanapet 5 Narayanpet Total 15 Nirmal Khanapur 5 Nirmal Bhainsa 5 Nirmal Nirmal 5 Nirmal Nirmal 5 Nirmal Nirmal 5 Nizamabad Nizamabad 5 Nizamabad Armoor 5 Nizamabad Bodhan 5 Nizamabad Bodhan 5 Nizamabad Bodhan 5 Nizamabad Bodhan 5 Nizamabad Feddapalli 7 Peddapalli Peddapalli 5 Peddapalli Sulthanabad 5 Peddapalli Sircilla 5 Rajanna Sircilla Vemulavada 5 Rajanna Sircilla Total 10 Rangareddy Bhadangpet 5 Rangareddy Bandlaguda Jagir 5	Narayanpet Narayanapet 5 6000 Narayanpet Total 15 18000 Nirmal Khanapur 5 6000 Nirmal Bhainsa 5 6000 Nirmal 5 6000 6000 Nirmal Total 15 18000 Nizamabad 5 6000 6000 Nizamabad 5 6000 6000 Nizamabad Armoor 5 6000 Nizamabad Bodhan 5 6000 Nizamabad Total 20 24000 Peddapalli Ramagundam 5 6000 Peddapalli Peddapalli 5 6000 Peddapalli Manthani 5 6000 Peddapalli Sulthanabad 5 6000 Peddapalli Total 20 24000 Rajanna Sircilla Vemulavada 5 6000 Rajanna Sircilla Total 10 12000 Rangareddy Bandlaguda Jagir 5

00.00 00.00 00.00 00.00 00.00 00.00 00.00 00.00
00.00 00.00 00.00 00.00 00.00 00.00
00.00 00.00 00.00 00.00 00.00
00.00 00.00 00.00 00.00 00.00
00.00 00.00 00.00 00.00
00.00 00.00 00.00
00.00
00.00
00.00
00.00
00.00
00.00
00.00
00.00
00.00
00.00
00.00
00.00
00.00
00.00
00.00
00.00
00.00

113	Siddipet	Husnabad	5	6000	30000.00
114	Siddipet	Gajwel	5	6000	30000.00
115	Siddipet	Dubbaka	5	6000	30000.00
116	Siddipet	Siddipet	5	6000	30000.00
	Siddipet Total		25	30000	150000.00
117	Suryapet	Nereducharla	5	6000	30000.00
118	Suryapet	Thirumalagiri	5	6000	30000.00
119	Suryapet	Suryapet	5	6000	30000.00
120	Suryapet	Huzurnagar	5	6000	30000.00
121	Suryapet	Kodada	5	6000	30000.00
	Suryapet Total		25	30000	150000.00
122	Vikarabad	Kodangal	5	6000	30000.00
123	Vikarabad	Pargi	5	6000	30000.00
124	Vikarabad	Tandur	5	6000	30000.00
125	Vikarabad	Vikarabad	5	6000	30000.00
	Vikarabad Total		20	24000	120000.00
126	Wanaparthy	Pebbair	5	6000	30000.00
127	Wanaparthy	Atmakur	5	6000	30000.00
128	Wanaparthy	Amarchinta	5	6000	30000.00
129	Wanaparthy	Wanaparthy	5	6000	30000.00
130	Wanaparthy	Kothakota	5	6000	30000.00
	Wanaparthy Total		25	30000	150000.00
131	Warangal-(Rural)	Wardhannapet	5	6000	30000.00

132	Warangal-(Rural)	Parakala	5	6000	30000.00
133	Warangal-(Rural)	Narasmpet	5	6000	30000.00
	Warangal-(Rural) Total		15	18000	90000.00
134	Warangal-(Urban)	Warangal	5	6000	30000.00
	Warangal-(Urban) Total		5	6000	30000.00
135	Yadadri Bhuvanagiri	Yadagirigutta	5	6000	30000.00
136	Yadadri Bhuvanagiri	Alair	5	6000	30000.00
137	Yadadri Bhuvanagiri	Mothkur	5	6000	30000.00
138	Yadadri Bhuvanagiri	Pochampally	5	6000	30000.00
139	Yadadri Bhuvanagiri	Bhongir	5	6000	30000.00
140	Yadadri Bhuvanagiri	Choutuppal	5	6000	30000.00
	Yadadri Bhuvanagiri Total		30	36000	180000.00
141	Hyderabad (GHMC)	GHMC (Zone wise camps)	30	6000	180000.00
	Hyderabad (GHMC) Total		30	6000	180000.00
	Grand Total		730	846000	4380000.00

- 7. The Municipal Commissioners are instructed to organize the camps and mobilize all the Street Vendors to the camps (No. of Street vendors to be mobilized in each camp should be decided based on the total no. of the street vendors applied for PMSVANidhi in the ULB) and also ensure presence of Branch Managers of all Banks, RM/ Managers/ Asst Managers of Streenidhi and representatives of digital payment aggregators like Pay Swiff, Phone Pay, Paytm, Airtel Payment Bank etc for taking up the following activities in the camps duly following the COVID-19 Protocol:
 - a. Coordinate with bankers for sanction and disbursement of all the pending applications under PMSVANidhi and update in Udyamimitra Portal.
 - b. To coordinate with Bankers and Digital payment Aggregators for generation of UPI IDs and issue of digital QR Codes to Street Vendors in the camps.
 - c. All the Street vendors who have been sanctioned loans should be trained in digital transactions by using QR code and payment App/ BHIM UPI App and financial literacy by utilizing the services of local bank branches and Digital Payment

aggregators.

- d. Issue of RuPay debit card to the Street Vendors who don't have ATM card.
- e. Make the Street Vendors to undertake the penny drop transactions for both the processes Credit & Debit, to create evidence for handholding.
- 8. Hence sanction is hereby accorded for an amount of Rs. 43,80,000.00 (Rupees Forty Three Lakhs Eighty Thousand Only) for conducting 5 camps in each ULB and 5 camps in each Zone of GHMC.
- 9. Accordingly, the Finance Manager, MEPMA is hereby requested to release an amount of

Rs. 43,80,000.00 (Rupees Forty Three Lakhs Eighty Thousand Only) to the Project Directors, MEPMA as per the above statement through e transfer to respective districts from the available funds under NULM funds.

- 10. Further, the Project Directors or PD/DMC, MEPMA are directed to release the funds to the concerned Municipal Commissioners towards conduct of Camps for Sanction, Disbursement of loans, Digital on-boarding of Street Vendors and Training on digital transactions and submit the Utilization Certificate to the under signed.
- 11. Hence, the Commissioner, GHMC, CEO, Secunderabad Cantonment Board and the Municipal Commissioners of all ULBs are requested to organize the camps on the above said dates and ensure sanction, disbursement of all loans, Digital on-boarding and training of all Street Vendors for whom loans are sanctioned under PMSVANidhi Scheme keeping in view of exemption of stamp duty till 31.10.2020 only.

DR N SATYANARAYANA IAS MISSION DIRECTOR

To

The Commissioner, GHMC
The Finance Manager, MEPMA

The Project Directors, PD/DMCs, MEPMA of all Districts of Telangana

The Municipal Commissioners of all ULBs of Telangana

Copy to the Additional Commissioner, UCD, GHMC for n/action

Copy to the Additional Collectors (LB) of all Districts for information and n/action

Copy to all the Collectors and District Magistrates in the state for information and n/action

Copy to various digital payment aggregators - Phone Pe, Pay Swiff, Paytm, Airtel payments bank, Bharath Pe etc with a request to attend the camps and issue UPI IDs or QR Codes

Copy to the MD, Streenidhi, Telangana State with a request to instruct all RMs/ Managers/ Asst. Managers to attend the concerned camps.

Copy to the Convenor, SLBC, Telangana State with a request to instruct all the branch managers to attend the camps.

Copy submitted to the Principal Secretary to Government, MA&UD Department, Govt. of Telangana for favor of information

Signature valid

Digitally signed by Dr Satyanarayana IAS Date: 2020 10.15 1 :27:17 IST Reason. Approve